


y=ax®] AHTI % (-2,4), (b, -2)F AL W, b9 T2

D =2 ® -1 3 0 @ 1 G 2



3. AABC 9] Al o] 37t ZhzE A3, 2), B(3, 6), C(-2, 0) & o,
AABC 9] Ho]&=?

@D 5 @ 10 3 13 @ 20 3B 40



4. ©

tlo

F 5y = =9 2 919 o] b AL

@® (-2,-6) @ (-1,-12) ® (1,12)
@ (2,6) ® (3,3)






g 1 TAA @, ©F Hehfe o
Ag Aol T 5L

1
®y=-xy=:
y Xy 3x

1
@y:x,y:—gx
1 1
®)’;x,y2x
@ y==,y=2x
X

® y=-x, y=3x

Y ©
6 -
I
I
I
- - 7 I
! 1
| |
3 O 2 7




o5 o] I3 F A3 AFREHE AUA] = A2 2 A7
D y=-
© y=-2x
©y=-1
X
® y=2x
@ = x gkl thety 3ol 4 -1 o]t
@D 17 @ 270 ® 374 @ 4 7 G 5 7}



8.

HEgd 99 Al H A(-1,1),B(1,0),C(2,3) &
AABC 9] Y o]&=?

)

N | Qo

@

N | O
N | 7
—
—



